EXAM BREAKDOWN 
A Multiple Choice Questions (Knowledge & Understanding) 

B Political Cartoon Analysis 

C Short Answer 
D Graph / Chart Analysis 
E Essay (All categories) 

TOTAL 100
KEY TERMS

Concepts/Ideas/Theories/Terms:

Intro to Issues and Classifying Countries

Globalization

Problem

Issue

Classifying countries (5 different models)

Social and economic development

Nations, Nation-States, States

Sustainability

GDP

Gini Index

Population Issues

Demographic Transition Model

Dependency load

Malthus

Catton
Boserup
Population Pyramids (types and interpretations)

Life Expectancy

Birth Rate

Death Rate

Immigration

Emigration

Net Migration

Population growth rate (or rate of population increase)

Rate of Natural Increase

Rule of 70 (Doubling Time)

Food Security

Myths of Hunger

CIDA

Cash-cropping

Subsistence Farming/Agriculture

Global Food production

Famine

Starvation

Malnutrition

Undernutrition

Fat and famine in developing countries

Food Aid

GMOs

Agricultural subsidies (US and EU)

War and conflict

Natural disasters

Agribusiness and the globalization of trade

Global Warming

Land ownership

Meat Production, consumption and food waste

Equality of women

Economic/Geopolitical Issues

Free Trade

Global Markets

Industrialization

Economic Disparity

Rostow’s Theory of Economic Growth (5 stages)

GDP based on Primary, Secondary and Tertiarary industries

Command, Market and Mixed Economies

Mercantile Systems

Free Trade

TNCs

International Debt (Debt crisis)

Debt Relief

Foreign Aid

CIDA - Canadian International Development Agency
CDI’s - 
HIPCs heavily indebted poor countries
WTO - 
Bilateral Aid

Multilateral Aid

Quality of Life Issues:
Infections and lifestyle diseases

AIDS pandemic

Anti-retroviral drugs

Impact of HIV/AIDS in Africa

Stephen Lewis

Steps to be taken in the developed world

Obesity Pandemic

Stages of the Nutrition Transition

Future of disease

UDHR

John Peters Humphrey

Women and Power

Human rights and children

Slavery (castes, bonded and forced labour)

Cultural exceptionalism

Empowerment (chipko, microcredit, fair trade)

Measuring sustainable development:

Bellagio Principles – specific and comprehensive measures

What can we do? Smart Growth, Green Taxation, Slow Cities

Multiple Choice Question Examples

1. Push factors to migration include:

a) visas

b) war

c) free education

d) infrastructure

e) all of the above

2. The idea that the Earth could only sustain about 1-2 billion people living a North American lifestyle refers to the Earth’s:

a) ecology

b) carrying capacity

c) sustainability

d) footprint

e) land mass

3. Which type of food, by mass, requires the largest land area to produce?

a) wheat

b) dairy

c) rice

d) beef

e) poultry

4. Most deaths due to hunger occur mostly among:

a) adults

b) teens

c) seniors

d) young children

e) none of the above

5. Globally, the most common or widely consumed “food staple” is:

a) rice

b) wheat

c) corn

d) potatoes

e) millet

6. More than any other single factor, the emission of ___________________________, is contributing to global warming.
a) carbon monoxide (CO)
b) carbon dioxide (CO2)
c) nitrous oxide (N2O)



d) methane (CH4)
e) oxygen (O2)

7. Human activity adds more _________________ to the environment than our “sinks,” or places to put those by-products, can handle
a) carbon


b) methane
c) nitrogen

d) all of the above
e) none of the above

8. Which of the following is NOT an NGO?

a) CARE

b) Red Cross

c) UNICEF

d) World Vision

e) Oxfam

9. A human’s impact on an ecosystem can be measured as his or her _________________.

a) geologic time

b) doubling time

c) carrying capacity

d) ecological footprint

e) none of the above

10. Which human activity requires the most freshwater? 

a) Irrigation in agriculture
b) Industry for manufacturing
c) domestic use
d) fishing
2. Fleeing from Haiti after the major earthquake would be an example of:

a) economic migration

b) ecological migration

c) political migration

d) cultural migration

11. Families in Afghanistan who flee the Kandahar region to another region of Afghanistan for safety are called:

a) emigrants

b) immigrants

c) internally displaced persons 

d) refugees

e) asylum seekers

12. The original, virgin forest cover of the Earth is also know as:

a) boreal forest

b) temperate forest

c) tropical forest

d) old-growth forest

13. Which of the following is not an example of land deterioration:
a) eutrophication

b) erosion

c) chemical deterioration

d) physical deterioration

14. In 1997, The Canadian government signed an international commitment to reducing GHGs called The _____________ Protocol:


a) Copenhagen



b) Kyoto 

c) Environment



d) UNEP

15. Access to freshwater and improved sanitation is lowest in:

a) Oceania

b) Latin America and the Caribbean

c) Asia

d) Africa

16. Which countries have the largest sources of freshwater resources?

a) USA, China, Russia, Canada
b) Brazil, Russia, Canada, China

c) Mexico, China, Ukraine, Brazil

d) USA, Mexico, Canada, China

17. Groundwater contamination can be caused by:

a) pesticides from agriculture

b) industrial waste

c) leakage from landfill sites (garbage dumps)

d) all of the above

18. Natural underground sources of freshwater are referred to as:
a) reservoirs

b) lagoons

c) pools

d) aqua

e) aquifiers

19. Resource use that “meets the needs of the present without compromising the ability of future generations to meet their own needs” is called: 

a) selective environmentalism

b) deep ecology

c) resource management

d) sustainable development

e) frontier economics

20. Which of the following is not a cause of desertification?

a) deforestation

b) overgrazing

c) sustainable agriculture

d) overuse of vegetation

21. The following world issue is largely resolved and no longer occurs:
a) infanticide

b) slavery

c) genocide

d) colonization

e) none of the above
22. Choose the most correct answer. What is globalization? 

a) Trend toward greater interconnectedness of world’s financial  and political system

b) Trend toward greater interconnectedness of world’s economic and cultural system

c) Trend toward greater interconnected ness of world’s ecological and geographical system

d) All of the above.

23. Which of the following is not a type of chemical deterioration of land?

a) desertification
b) nutrient leaching
c) salinization

d) acidification

24. Which of these stages is the stage death begins to decline rapidly?
a) Pre-transitional
b) Early transitional
c) Late transitional 
d) Post transition
25. Which one does not belong to late transition?

a) Birth rates decline rapidly

b) Death rate declines slowly

c) Fertility rate declines
d) Infant mortality rate declines
26. Governments that control almost all the production and distribution of goods and services are called:


a) democratic

b) authoritarian



c) socialist

d) communist

27. Before modern nation-states were created, most nations were separated by:


a) natural boundaries

b) ethnographic boundaries


c) geometric boundaries
d) zones

28. Governments that allow most citizens of the state to chose their leaders and voice dissent are called:


a) democratic

b) authoritarian



c) socialist

d) communist

29. Governments that have complete control, that do not allow citizens to chose their leaders or make decisions on how the state is run, are called:


a) democratic

b) authoritarian



c) socialist

d) communist

30. Which country has the highest amount of refugees received? 
a) Iran
b) Egypt

c) Canada 

d) France
31. Which country has the highest IDP (Internally Displaced Person?)
a) Russia

b) United States

c) Liberia
d) Colombia
32. Which place is expected to have the highest projected population in 2018?

a) New York

b) Shanghai

c) Tokyo

d) Mexico City
33. What word is used to describe people beginning to move back into the centralized part of the city?
a) Gentrification

b) Centralization

c) Decentralization
d) Recentralization 
34. What does WTO stand for?

a) World transitional Organization

b) Western Trade Organization

c) Word Treaty Organization
d) World Trade Organization
35. What Does HDI stand for?

a) Human disappearance indicators
b) Human Development Index
c) Humanity development index

d) Humanity disappearance indicators
36. Which one is an Expansionist World View?

a) Everything in the universe is interrelated and interlocked 

b) Human activities must work within limitations

c) Nature is a resource to be used, not preserved 

d) Preservation works against dominant societal value
37. In the 1990s, which two countries dominated the headlines because genocide was occurring in those countries?
a) Switzerland and Poland 
b) Vietnam and Singapore 
c) Sudan and Rwanda 
d) Costa Rica and Jamaica
38. Which of the following is in the G8
a)  North Korea
b) Australia
c) Egypt
d) Canada
39. Which of the following is not in the G8
a) UK
b) Germany
c) Japan
d) China
40. Which of the following is a push factor?

a) War

b) Justin Beiber

c) Public Transportation

d) Minority population
41. Which is NOT a pull factor?

a) Stable economy

b) High life expectancy

c) Nice baseball team

d) Clean city
42. Which of the following is NOT one of the six main bodies of the UN?

a) The Security Council

b) The General Assembly

c) The Economic and Social Council

d) The Strategic Homeland Intervention, Enforcement and Logistics Division  
43. Which of the following is a NGO?
a) FBI

b) CIA

c) SEC

d) Oxfam
44. Which of the following was NOT a method of Birth Control used by China?

a) One child Policy

b) Abortion

c) Sterilization

d) Genocide

45. With which nation are Pol Pot, the Khmer Rouge, and genocide associated? 

a) Korea 

b) Japan 

c) Myanmar (Burma) 

d) Cambodia (Kampuchea)
46. The use of violence and intimidation to achieve political or ideological goals is called: 

a) terrorism 

b) corruption

c) political instability

d) digital divide 
47. The two components of a successful tourism-based economy are:

a) significant attraction present & effective and attractive infrastructure (hotels, transportation, etc.)

b) significant attraction & ease of transportation to said attraction

c) effective/attractive infrastructure & affordability of tourism in the area

d) political stability & significant attraction 
48. The limits-to-growth thesis is based on:

a) predictions to what might happen if current growth trends continue

b) a vision of the Earth as a fragile, finite, self-contained sphere with limited resources and a rapidly growing population in jeopardy

c) the belief that scientific and technological advances will develop new resources that will take place of the old ones

d) the fact that there are limited resources and little time to develop new ones
49. Which country is not a member of the G8?

a) Australia

b) Canada

c) Germany

d) Italy 

50. What was China’s approach to population control?

a) one-child policy

b) two-child policy

c) taxation on the rich

d) taxation on the families living in urban areas

51. What is not a pull factor?

a) war

b) job opportunities

c) political stability

d) high standard of living

52. ASEAN is a Southeast Asian international organization which countries are associated with it?

a) Cambodia, Thailand, Malaysia, Laos, Vietnam, Singapore, Brunei, Indonesia, Myanmar, Philippines

b) China, Japan, Taiwan, South Korea, Russia 

c) China, Taiwan, Thailand, Malaysia, Vietnam, Brunei, Indonesia, Nepal, Australia

d) Thailand, Singapore, Laos, Indonesia, Philippines, Pakistan, Afghanistan, India

53. In terms of the First, Second and Third World model which one does China fit into?

a) First

b) Second

c) Third

d) None of the above
54. Which are the current top 5 countries in HDI?

a) England, Iceland, Canada, Australia, Ireland

b) Norway, Canada, Sweden, Australia, Iceland

c) Canada, Iceland, Australia, Ireland, Sweden

d) Canada, Iceland, Norway, Australia, Ireland

55. Do critics believe that Free Trade is negative or Positive for Canada?

a) Negative

b) Positive

c) Neither 

d)   I don’t know

56. Which one is a localized biome?

a) Tundra

b) Taiga

c) Chapparal

d) Swamp

57. When did Mercantilism occur? 

a) 1850 – 1914

b) 1700 – 1850

c) 1650 – 1800

d) 1500 – 1700

58. What factor does NOT lead to population increase?

a) Migration

b) Health

c) Culture

d) Food 
59. Who are the four “Asian Tigers”
a)    South Korea, Hong Kong, Taiwan, Singapore

b)   China, Japan, Pakistan, Iran

c)   Japan, china, Taiwan, South Korea

d)   Jamaica, Canada, USA, Hawaii

60. Which stage in the Demographic Transition Model has the highest birth rate?
a) Stage 1 

b) Stage 3

c) Stage 2

d) Stage 4
61. What nation colonized the most countries?
a) China
b) France
c) England
d) Spain

62. What factors affect food supply?

a) Plants and animals

b) Pests

c) Foreign aid

d) All of the above

63. In the film, “Battle Lines” in regards to sharks what was banned in TWO states?

a) Chumming

b) Cage diving

c) Shark Finning

d) Shark Fin Soup

64. Which of the following is NOT a factor that shapes the economy? 

a) Technology

b) Natural resources

c) Societal structures

d) Geography

e) Demographics

65. Which sector involves the exportation of manufactured goods and tends to have a higher GDP

a) Primary sector

b) Secondary sector

c) Tertiary sector

d) Quaternary sector
66. Which of the following is NOT ranked in the top 5 countries in the HDI?

a) Iceland

b) Norway

c) Canada

d) Germany

e) Ireland

67. If a countries GINI Index is 0, this means that: 

a) There is no income wealth among the demographic whatsoever

b) The country’s income wealth is evenly distributed amongst all citizens

c) The country’s income wealth is concentrated within a specific group of citizens

d) The country’s total expenditure amongst all citizens

68. Which of the following is a cause of National Debt? 
a) Loans
b) Oil crisis: abolition of the gold standard
c) Development of economies after WW1 and WW2

d) All of the above

69. Which of the following has the total highest costs?

a) Cosmetics

b) Narcotics

c) Cigarettes

d) Health and nutrition

e) Education

70. Which of the following is NOT a reason for different diets around the world

a) Culture and taboos

b) Money

c) Nutrition 

d) Environment

e) Social Pressure

71. Which of the following is a part of the UN Economic and Social Council?

a) The International Atomic Energy Agency

b) The Department of Public Information

c) The Department of Economic and Social affairs 

d) Office of Drugs and Crime

e) World Health Organization 

72. Demographics are…

a) The study of spatial variations in distribution, composition, migration, and growth of populations over time

b) The study of human population dynamics that looks at how populations change over time due to births, deaths, migration and aging

c) A term for population characteristics. This includes birth rate, death rate, immigration, age, income, sex, education, occupation, religion, and nationality

d) The effects of population change on political systems, economics, social structures and environments 

73. Rate of Natural Increase is defined as:

a) Birth rate – Death rate

b) Death Rate – birth rate 

c) Total population – total deaths in one year 

d) Total population – total births in one year 

74. Which of the following are those who carry out the physical actions of a genocide 

a) The Onlookers

b) The Henchmen

c) The Perpetrators

d) The Bystanders

75. Which of the following defines the concept of an establishment of an agreement that places one state in an unequal relationship with another; where the latter protects the former (diplomatically, militarily, etc), which accepts specified obligations? 

a) Imperialism

b) Colony

c) Protectorate

d) Condominium 

76. Which of the following countries was not a part of the Japanese Occupation during WWII? 

a) Mongolia

b) China 

c) Philippines

d) Thailand

e) India

77. The acquisition and settlement of a territory or country by another nation is called:


a) nationalism
b) geopolitics
c) colonialism
d) globalization

78. Pride in identifying with one’s country and the belief in the right to sovereignty for that country is called:


a) nationalism
b) geopolitics
c) colonialism
d) globalization 

79. Which of the following is an argument that justifies colonialism?

a) Westernization

b) Trader Colonialism

c) Racial and cultural inferiority

d) Political Development

80. Which of the following did the British Empire NOT invade?

a) Iraq

b) India

c) Ireland

d) Syria

81. Which of the following theses supports the idea that there is a fixed carrying capacity of the earth that cannot be altered?

a) Gaia Hypothesis

b) Spaceship Earth Concept

c) Cornucopian Thesis

d) Limits-to-growth Thesis

82. Which of the following countries is classified as a “developed” country?

a) Brazil

b) Nigeria

c) China

d) Germany 
83. What is not a factor of population increase
a) Food 

b) Health 

c) Natural resource 

d) Migration 

84. Which of the following is NOT a factor of declining death rates?

a) Better Nutrition

b) Better Access to Medical Care

c) Better Immunization

d) Better access to music 

85. Which of the following is NOT an Effect of Population Increase?

a) Increased poverty

b) Resource depletion 

c) Medicine shortages

d) The increased population of swagger-ville

86. Which is not an effect of population decline 

a) Rise in the standard living 

b) Small impact on the environment

c) Unemployment 

d) Deflation 

87. What factors lead to population decline?

a) Heavy Emigration 

b) Decrease in death rate 

c) Environment 

d) Corrupt Government 

88. Which is not part of the Demographic Transition Model? 

a) Pre-modern era 

b) Pre-industrial era 

c) Mature industrial era 

d) Post industrial 

89. Which 2 counties will account for ½ the population by 2050?
a) China and United States 

b) Russia and United States
c) India and United States
d) India and china 

90. Which is not a consequence of overpopulation? 

a) Famine 

b) Poverty

c) Shortage of space 

d) Raised taxes 

91. Which country is not part of the G8?

a) Canada 

b) Lithuania

c) Germany 

d) Russia 

92. Which is not a historic example of colonialism?

a) Angola 

b) United states 

c) Morocco 

d) Hong Kong

93. Expansionist world view is best defined as:

a) Nature a is resource to be used 

b) Nature must be observed as scared 

c) All part of the universe are interconnected 

d) Nature much be protected

94. The Gaia hypothesis is best described as: 

a) Earth is self-contained

b) Earth has limited resources

c) Earth is dynamic, living, self-regulating 

d) The Earth has a carrying capacity

95. Political topics concerned with the geography:
a) Trade

b) Foreign aid

c) Territorial control

d) Over fishing

96. What country was not a member of genocide?
a) Cuba

b) Sudan

c) Tibet

d) Iraq

97. In what year did the Belgium slavery of Congo happened?

a) 1801

b) 1982

c) 1800

d) 2010

98. What best describes Henchmen?

a) The one who plans, incite or encourage acts of genocide

b) The ones who carry out the physical acts of genocide

c) The groups of people who harmed by acts of genocide

d) The person that put a stop to the acts of genocide

99. How was colonialism justified in mural terms?
a) Racial arguments

b) Political impact

c) Economic role

d) Military dimension 
100. Who is the President of Russia?
a) Angela Merkel
b) Vladimir Putin
c) Dmitry Medvedev 
d) Barrack Obama

AND THERE’S MORE!!!!

10. Geopolitics can best be defined as

A. the interplay of politics and geography at the national or international level.

B. the effect geography has on a nation’s political system.

C. politics played at the highest level.

D. geographical issues that affect all of our lives.

11. Which pair of countries are in dispute over Kashmir?

 A. India, Nepal B. India, Pakistan

 C. Nepal, Bangladesh D. Pakistan, Bangladesh

12. Which of the following is the most appropriate example of a cultural conflict?

A. Israeli-Palestine B. Kashmir

C. Rwanda D. Chiapas

13. The Palestinian-Israeli conflict is

A. territorial B. religious

C. terrorism D. impossible to resolve

14. The total number of wars fought in the twentieth century was

A. 5 B. 25

C. 150 D. 250

15. In 2000, where did the greatest number of conflicts occur?

 A. Africa B. Asia

 C. Europe D. Middle East

16. Which countries were at the centre of the 1990-1991 Gulf War conflict?

 A. Iran, Kuwait B. Iraq, Iran

 C. Iraq, Kuwait D. Kuwait, Saudi Arabia

17. Which of the following is NOT an expressed purpose for the United Nation’s existence?

A. Provide humanitarian assistance

B. To eventually create one world wide government to represent all nation-states

C. Work towards increasing international justice, human rights and law

D. Works towards world peace

18. Countries immune to the terrorist threat are

A. poor underdeveloped nations

B. central and northern European nations

C. most of the South American nations

D. all are vulnerable

19. Which event in 1968 marked the beginning of modern terrorism?

 A. Air India flight from Vancouver was bombed

 B. bomb placed in World Trade Center garage

 C. Palestinians hijacked an Israeli airliner

 D. tourists attacked by gunmen in Egypt 

20. Who won a Nobel Peace Prize for facilitating South Africa's peaceful transition to

democracy?

 A. Jomo Kenyatta B. Nelson Mandela

 C. Shimon Peres and Yitzhak Rabin D. Yasser Arafat

21. Which country, formerly called Burma, now has a repressive military government that has

renamed it?

 A. Belize B. Eritrea

 C. Myanmar D. Zimbabwe

22. What name was used for the Cold War military organization of communist countries?

 A. Axis Powers B. Moscow Group

 C. Triple Alliance D. Warsaw Pact

23. Which of the following has the United States refused to sign?

 A. a convention to outlaw the use of all biological weapons.

 B. a treaty to stop the use of anti-personnel landmines

 C. Comprehensive Test Ban Treaty to end all testing of nuclear weapons.

 D. all of the above

24. The single largest form of public spending by nations of the world is on

A. economic development B. military

C. protecting the environment D. social programs

25. Vietnam is still suffering the effects of war thirty years after the Vietnam war as a result of

A. Agent Orange B. an unknown chemical compound

C. dioxin residue D. none of the above 

